
SLOVESO “ TO BE“  - procvičování II. 

                                                                                                                              They are happy. 

 

1/  Nahraď vytučněné výrazy osobními zájmeny: I, she, he, we, They.    

   Ann  (………….)  is sad today.  Tim  ( …………)  is at the park .  ……………  am 

wearing a t-shirt. Paul and John  (………………)  are in the classroom.  Susan and I 

( ………..)  are wearing a T-shirt.  Jack and Jill  ( ……….)  are  from Paris. Greg 

and I ( …………)  are brothers. 

 

2/ K dané osobě dopiš správný tvar slovesa „TO BE“ a pod něj napiš český 

překlad: 

I …….  He  …….  She  …….  We  ……..  They …… 

……… …………..  ……………  ……………  …………… 

 

3/ Utvoř zápor: 

We  .…. I ………..  They …….  She ………  We ……… 

You… ..        Alice…….  

 

4/ Odpověz na otázky: 

Are you at school?  ………………………………………………………………………… 

Is your mother a teacher? …………………………………………………………………. 

Are your friends from England? …………………………………………………………….. 

Are you wearing a skirt? …………………………………………………………………….. 

Is your pet a dog? …………………………………………………………………………..... 



  


